Ak SERH

CBTREHE

For servo motor

CBT REDUCER

BF series




= SEE
B F Se"es Features

f«( \‘z‘r‘E}FJ
2R FR10~1558%

St SHE

A% ) B8 X R AT dh7K, K K33 T RIEAd4E

Economic type

Full series back gaps 10~15 arc minutes

EiEss. WESI

VA B R EAR T — & B i b

High rigidity & forque

High rigidity & high torque was achived by uncaged
needle roller bearings.

B E G
VLT LY AN NP D bl - S i 4
R R

Aaapter-bushing connection

Can be attached to any motor all over the world.

HEETTE

B S N & T B BIMT NG, R IR,

No grease leakage

Perfect solution by high viscosity anti-separation
grease.

Maintenance-free

No need to replace the grease for the life time.
Can be attached in any position.

http://www.cbtgear.com.tw im}

o
=
=
et
3
w
m
A
2

souas Jg J199npay 199




- B, TSRS
B F series » g

BFO60 — L1 - 10 - D1 - S7 - Y

n ﬂ iil H

] BF042

~ea )] X,

& BFO60 ek

i D1(% 5 $h 4 4F)

= BF090 D2(H 71 .78 )

= o " s

~ L Bk AR SE B

3%;3 BF150 Bk e Bk, R

= BF180 38

o L1 (—& i)

S L2 (=& H)

g L3 (ZH )

=

o

®

S P

UT A Sége No || — PR kiR HL I — B Rkt B = P ki rb

2 Sficiﬁcatic)ns Single Stage Ratio(L1) Double Stage Ratio(L2) Triple Stage Ratio(L3)

-

? BF042 3,4,57,10 | 12,15, 16,20, 25, 30, 35, 40, 50, 70, 100
BF060 3,4,5 7,10 | 12,15, 16,20, 25,30, 35, 40, 50,70, 100 | 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BF090 3,4,57,10 | 12,15 16, 20,25 30, 35,40, 50,70, 100 | 120,150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BF120 3,4,57,10 | 12,15, 16, 20,25 30, 35,40, 50,70, 100 | 120,150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BF150 3,4,57,10 | 12 15, 16,20, 25, 30, 35, 40, 50,70, 100 | 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BF180 3,4,5 7,10 | 12 15, 16,20, 25,30, 35, 40, 50,70, 100 | 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000

m} http://www.cbtgear.com.tw




= 1FEE—E
B F serles ‘ Performance table

St%rt%( iR (1) BF042 BF060 BF090 BF120 BF150 BF180
age No.
1/3 10 40 115 210 420 910
— % 1/4 12 45 142 280 480 1050
Single Stage 1/5 13 50 142 310 550 1180
LD 17 11 42 110 250 480 1050
1/10 10 40 75 220 420 950
. 1/12 11 40 115 210 420 910
G T iy 4 FE (Nm)
Nominal Outpat Torque 1/15 15 40 142 210 420 910
1/16 15 45 142 280 480 1050
1/20 15 45 142 280 480 1050
1/25 15 50 142 310 550 1180
- 1/28 15 42 142 250 480 1050
Double Stage Ratio 1/30 15 40 115 220 540 950
(L2) 1/35 15 42 142 250 480 1050
1/40 15 40 142 220 450 950
1/45 15 40 142 230 430 1000
1/50 10 40 142 230 420 950
1/70 10 40 110 230 420 950
1/100 10 40 75 230 420 950
WERLIE A e () L2 2100 3 Y B () X
Max.Output Torque ' 3 Times of Nominal Output Torque P
e LLL2 3-100 3000 3000 3000 3000 2500 2500 %
RINAIER (rpm) -
Rxs it o 11,12 3-100 6000 | 6000 | 6000 | 6000 | 5000 | 5000 E
2 4E 3 % (arc—min) L1 3~10 10 10 10 10 10 10 2
SEMETG e 3R L2 12-100 15 15 15 15 15 15 3
A2 A (Nm/arc—mi i
Torsion Sti(ffn[?s:rc i) L1,L2 3-100 3 6 12 25 51 142 =
BHAE ) ) (Max Radial Load(N) L1,L2 3-100 750 1200 2500 5600 9000 14200
) ) (Max.Axial Load(N) L1,L2 3-100 375 600 1250 2800 4500 7100 g
A& % (Service Lifo) 11,12 3-100 20000 -
1]
%834 % (Efficiency (%) L1 3-10 95% 2
L2 12-100 92% =
1]
g . L1 3-10 0.6 16 4.5 8.0 17.0 35.0 =
F& (Weight (kg)
e L2 12-100 07 20 60 110 220 430 ]
1 ) i & (Use Temperature (C) L1,L2 3-100 -10°C~+90°C g
i 78 (Lubrication oil) L1,L2 3-100 B A 46 JE T IR (AL formate the lubricating oil) %.
224 77 1) (Install the direction) L1,L2 3-100 =il (Wanton direction) L
448 (Noise Level (db) L1,L2 3-100 0 | <0 | g0 | <0 | <0 | <70
fis iE
E Pk ok Y ;B )5k 5 L ik ik A2 1. The above single stage reducer (not specified ratio) related specifications,
LA F R (RIEIH) AR 22 ERF SRS ARMITN 2R mainly for lheguse ofgeach model 5 lhzn the speed reducer mﬂasured data.
2RIRIE: i=IASRIR/ R IR 2. Reduction ratio: i= input speed / output speed
s Bl ol g 10 ol e
4IRRIEQ N BRRM@ N 6T H AP 42 E, Flif A RFES50%, #i%500rpm, Cof the output shaft, I}/'l;‘/ peripheral load time is 5})%p,pthe sp(;;ad is 5‘0(/);'pn:1,
; ol 8 > data measured under conditions.
AT AR LT 5. Operation load cycle is less than 60% of the average life, such as a list of
5588 A R <60WIKA T, F3HEMAF oo s R BIEME; & REAP==60%2 k45 3E data values; more than = 60% of continuous operation cycle load in turn,
HIRUTF, “F3EAEST ARG EIKE EF A 50% AT o t}:le average life expectancy may be reduced to helow 50% of the normal
6. F A BEAL AR EWIEH, BT I A RAR T ARG Z SR 6. Noise value: measured from 1 meters no-load operation, rated input

speed conditions measured data.

http://www.cbtgear.com.tw iﬁ}




s R EE)ES
B F se"es » Reducer rotating inertia table

B, A& B IR P BF 042 BF 060 BF 090 BF 120 BF 150 BF 180
Specifications Stage No Reduction Ratio
1/3 0.02 0.12 1.05 2.38 10.76 26.48
1/4 0.01 0.09 0.94 1.99 8.89 21.51
1/5 0.01 0.08 0.91 191 8.55 20.60
L1
1/7 0.01 0.08 0.89 1.86 8.42 20.26
1/10 0.01 0.08 0.89 1.84 8.38 20.15
1/12 0.01 0.08 0.89 1.87 8.51 20.50
1/15 0.01 0.08 0.89 1.87 8.51 20.50
1/16 0.01 0.08 0.88 1.86 8.51 20.50
oy EE]L
(1) kg*cm? 1/20 0.01 0.08 0.88 1.86 8.51 20.50
-]
|
bl 1/25 0.01 0.08 0.88 1.86 8.51 20.50
m
= 1/28 0.01 0.08 0.88 1.86 8.51 20.50
)
; 1/30 0.01 0.08 0.88 1.86 8.51 20.50
H
1/35 0.01 0.08 0.88 1.82 8.36 20.13
(1)
E' 1/40 0.01 0.08 0.88 1.82 8.36 20.13
D L2
= 1/45 0.01 0.08 0.88 1.82 8.36 20.13
o
]
=
-] 1/50 0.01 0.08 0.88 1.82 8.36 20.13
m
"
g 1/70 0.01 0.08 0.88 1.82 8.36 20.13
@
n
1/100 0.01 0.08 0.88 1.82 8.36 20.13

iﬁ} http://www.cbtgear.com.tw




B F series

iR outputs

RY—8%x

Size

Schedule

D2 D1
~ Cc4
/ Vol O
! | Qe p= SE |
i i S |
\ / i
) ' Ls
L4| | |L6 C6
L3 L1
D3
D3
D6 L8 L7 D6
| L
h = TN
N % ) &
Hl L9 : L9
& ﬁ—%‘b;ﬁﬁg D1 Output shaft with key H 7 7E/'?J‘—‘PY§ D2 Smooth output shaft g
-]
¥45. mm ;E:l;
o b
R~ Ji BF042 BF060 BF090 BF120 BF150 BF180 =
D1 | H il 2 o R AL i B A€ 50 70 100 145 165 215 -]
D2 g i 22 S 02 FL 3.5 5.5 6.5 8.8 10.5 13 -
D3 | il B 13 16 22 32 40 55 3
D4 7 il e T = AR 35 50 80 110 130 160 ]
D5 7 Tl e AR 15 18 25 35 45 60
D6 Tl it 1A O B M4x0.7P M5x0.8P M6x1.0P M8x1.25P M12x1.75P M12x1.75P o
L1 A+ R 66 83 108 148 189 231 3
L3 i = 26 33.5 47 70 75 96 -
L4 | B B 5.5 5 5 10 4 10 2
L5 th 1 s s g J5E 1 2 2.5 1 3 2.5 5
6 | Bl L 9.5 6.5 10 15 15 26 g
L7 R 15 20 25 40 45 70 2
L8 EF 1 i v T ) S e 2 3 3 3 5 6 o
L9 | th ot ] A R A R 10 12 15 20 32 42 2
L10 | #HHPHEE 46 62 90 120 142 182 1
B1 SHE 4 5 6 10 12 16
H1 e LS 14.5 18 24.5 35 43 59
c1 N Tl 4 0B AL T [R] EAR <22~46 <22~70 <70~145 <70~145 <90~200 <145~235
2 A T i 2 e FL AR <M4 <M5 <M8 <M8 <M12 <M14
a3 iR RS <8 <14 <24 <24 <35 <42
c4 B R <28 <34 <62 <65 <85 <116
c5 BEEMMEERK <30 <50 <110 <110 <130 <200
cé6 i 2 EE <3 <4 <7 <7 <7 <10
Cc7 ANEE R <46 <62 <90/120 <120 <142/180 <182/200

HL: C1-CORSTRIRFABCAS it ] i K 1 B RS E T

T2 CTRUHRARFETC A i R I K5 1 2 o K i A T

e,

HE3: A R R B IR I RER, A SEBUR INRCT AT S8 8), AIKPE b SE ) R YR ATl N, T BT dec e B 5\ BERR RO 5 )

http://www.cbtgear.com.tw {m




D2

@D4(h7)

D3

Size Schedule

gl
NS

H1

C4
= gl
L5
L4 L6 C6
L3 L2
L8 L7 D3 D6
| TN o3 (>
T &
L9 ' L9

8 s j]:‘-"bjﬁl_% D1 Output shaft with key B 7161'?1'3?5‘7. D2 Smooth output shaft

]

% ¥4%: mm

& Rt 2 BF042 BF060 BF090 BF120 BF150 BF180

-] D1 | 4y i e AL 6 B B AR 50 70 100 145 165 215

= D2 H i e g AL 3.5 5.5 6.5 8.8 10.5 13

bl D3 | H Al 13 16 22 32 40 55

p-- D4 T i A ™ 2 AR 35 50 80 110 130 160
D5 7 il e EAR 15 18 25 35 45 60

o D6 | iy il 1T A BiA% M4x0.7P M5x0.8P M6x1.0P M8x1.25P | M12x1.75P M12x1.75P

U_=| L2 R+ R 82 104 135 181 233 292

] L3 il = 26 33.5 47 70 75 96

3 L4 | R g R 5.5 5 5 10 4 10

& L5 |t ol i 1 2 2.5 1 3 25

g 6 | e L 95 6.5 10 15 15 26

2 L7 R 15 20 25 40 45 70

7 L8 1 T TR 30 SR B 2 3 3 3 5 6

g L9 | i [ 08 4k R 10 12 15 20 32 42

2 L0 | “HEMBE 46 62 90 120 142 182
B1 SR 4 5 6 10 12 16
H1 5 S 1S 14.5 18 24.5 35 43 59
C1 A\ il 2 3 02 AL T [B] AR <22~46 <22~70 <70~145 <70~145 <90~200 <145~235
2 AT 2 HE LB <M4 <M5 <M8 <M8 <M12 <M14
a TS B <8 <14 <24 <24 <35 <42
C4 FEE R R <28 <34 <62 <65 <85 <116
c5 BEEMMEREK <30 <50 <110 <110 <130 <200
C6 | MG =R <3 <4 <7 <7 <7 <10
c7 AN EE <46 <62 <90/120 <120 <142/180 <182/200

L Cl-CORSTURIEFA LA b RA] A 5 3 A a4 S s v i i
T2 CTRSTARIRIETICAS i R R R ke A3 5 3 A R i it
T3 AN AR RS AG A RER], S TERUS ARG 88, KE MY BYER S TE A, 5T BRI IR A B IR RST8],

{E} http://www.cbtgear.com.tw




F series »

o
ALY

&C 3%

Motor Mark

|6

C4
BEE | EEER A C1 C2 c3 C4 (0] C6
BF R85 o SEEE B IE AR GHEF RS TR B IHEMRE | BEEMOEER | BEE 2R
S1 45 M3 8 29 30 4
42 52 46 M4 8 29 30 2
S1 45 M3 8 32 30 3.5
S2 46 M4 8 32 30 3.5
S3 70 M4 11 32 50 6
S4 70 M4 14 32 50 6
60 S5 70 M5 14 32 50 6
S6 90 M5 14 40 70 6
S7 90 M6 14 40 70 6
S8 66.7 M4 6.35 32 38.1 3.5
S1 70 M4 11 32 50 3.5
S2 70 M4 14 32 50 3.5
S3 70 M5 14 32 50 3.5
S4 90 M6 14 45 70 6
90 S5 90 M6 16 45 70 6
S6 100 M6 16 45 80 6
S7 90 M6 19 45 70 6
S8 145 M8 19 60 110 10
S9 145 M8 22 60 110 10
510 145 M8 24 60 110 10
S1 90 M6 16 52 70 6
S2 100 M6 16 52 80 6
S3 90 M6 19 52 70 6
S4 115 M8 19 62 95 8
120 S5 145 M8 19 62 110 8
S6 115 M8 22 62 95 8
S7 130 M8 22 62 110 8
S8 145 M8 22 62 110 8
59 145 M8 24 62 110 8
S10 145 M8 28 62 110 8
S1 115 M8 19 74 95 8
S2 145 M8 19 74 110 8
S3 115 M8 22 74 95 8
S4 130 M8 22 74 110 8
150 S5 145 M8 22 74 110 8
S6 145 M8 24 74 110 8
S7 145 M8 28 74 110 8
S8 165 M10 32 82 130 8
S9 200 M12 35 82 114.3 8
510 200 M12 42 82 114.3 8
S1 130 M8 22 74 110 8
S2 145 M8 22 74 110 8
S3 145 M8 24 74 110 8
S4 145 M8 28 74 110 8
180 S5 165 M10 32 82 130 8
S6 200 M12 35 82 114.3 8
S7 200 M12 42 82 114.3 8
S8 215 M12 38 117 180 8
59 235 M12 42 117 200 8
S10 235 M12 55 117 200 8

http://www.cbtgear.com.tw iﬁ&






